Question 1 Astepinput is applied at fime t=0 to the loaded inverter with dimensions and initial conditions as shown below.
Correct

- For all transistors: Ly = 1 pm, Wy, = 1 um, Vi,=-1 V, 1,Cy = (1/6) x 107 AV?, Ap=
co 0.0V, Vo, = 1V, 1, Con = (1/2) x 107 AV, Ay = 0.0V,
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What region the PMOS will be in? (Linear, Cutoff, Saturation) Saturation = |+
Whet region the NMOS will be in Cutoff s v
What is the current lioad immediaiely after the step is applied in mA?
Mote: do not add a unit, just the number
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The corect answer is:
What region the PMOS will be in? (Linear, Cutoff, Saturafion) — Saturation,
What region the NMOS will be in  — Cutoff,
What is the current lload immediately after the step is applied in mA?
Note: do not add a unit, just the number — 1.67
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Your answer is parficlly corect.

You have corectly selected 4.
The comrect answer is:
Performance — Power-Delay Product,

Area — Directly offects cost,

Body (substrate) normally connected o ———— for NMOS — Threshold Voltage,

The interface between designer and process (CMOS fabrication) engineer — Design Rules,
used in chip manufacturing — Silicen,

Raising source voliage increases ———— of transistor — Threshold Voliage



